Maths

Back Bearings

Miss Davies

| &



Back bearings

1. In each diagram, the bearing of B
from Ais given.
Work out the bearing of A from B.

3. The bearing of Afrom B is 235°

Work out the bearing of B from A.

N
N

235°
A

4. Find the bearing of Y from X if...
a) the bearing of X from Y is 042°
b) the bearing of X from Y is 143°
c) the bearing of X from Y is 246°
d) the bearing of X from Y is 358°
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Back bearings

1. In each diagram, the bearing of B
from Ais given.

Work out the bearing of A from B.
a) N

70° 250°

295°

3. The bearing of Afrom B is 235°

Work out the bearing of B from A.
N

5 055°
2350

N

A
4. Find the bearing of Y from X if...

a) the bearing of X from Y is 042° 5550
b) the bearing of X from Y is 143° 2,20
c) the bearing of X from Y is 246° g5zo0
d) the bearing of Xfrom Y is 358° 19g0
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